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L Ify = (z+ 1)(z + 2)*(z + 3), then 3/(0) =

0“3 = b () & 2 Ghx+2) + 2 0 (x43)

(b) 32 y b - 2 4+ 2
(c) 72 ':\," A+ | X+2 X+ 2
(d) 108

(e) 48 Y) = Y (o) (\ + 1 + %)
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2. The number of inflection points of the function f(z) = 6z* — 82% +1 is equal to

jf’(x\ = 2o — 24>

(a) 2
(b) 0 foo = 725 - 48 %
(c) 4
(d) 3 = 24x(3x-2)
(e) 1
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3. If y = 72® — 6z + 3, then d—i at z =1 isequalto

_cl_g = Wx-§ > ax - |
I c\d I¥x- &
(b) 8
(c) 4 _gl— _ __l__
(d)} J X={ B
4
1
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4. If f(z) =€, then f"(1) =

=

r X
fro= 2*¢€ 2 2

X X
((]3 . o= ax (e + € (2)
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5. The function y = —2® + 122 — 3 is increasing on

/ 2
f(_@)i‘_‘zﬂ) y = VL — 3 X

Cain )
(@) (0,00) = 34—~ \
(d) (~c0,~2) -3 (a0 (R
(@ (-1,1)

.

o [V —

A
-2 2.

}qC%\\"g on ('21 2)

6. If m is the absolute minimum and M is the absolute maximum of the function
f(z)=—2z*>—62+5,z€[-3,2], then m + M =

TRV
(Rt feo= -4x-£
[ = =- =
m U fow=o= 1773
21 X ae(x)

(d) Y —
(e) ~10 3 5
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7. The graph of function f(z) = 23 — 622+ 9z is concave up on

(a) (2’00) J’(X) = 3 Xz"’ ’27( -+ q

(b) (—00,2) 1
(¢) (=00, 1) jc(x) = é)( — VL
(d) (1,2) = é()(—l)
(e) (0,2)
A
2
25,133
-@—H———"—‘_ Concave ©OPp on (2 00)

1022+ 92+ 5
5 + 2

8. The oblique asymptote of the graph of the function f(z) = , s

extl

(m 5‘,%9_/] ?”4—0!;“-5

b)y=z+1 —

l9x" 7
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() y=—20+1 —5xF2
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9. The number of vertical asymptotes of the graph of the function

f(il?) = 35(7(23)“— 1)(43: — 3) )
VCr"TCJ 8y mp\o‘ej axre
| (a) 3 ) . .
(b) 2 X=0o > A= 53 ° X m
(c) O
{dj 1
(e) 4

10. If y = 1 is the horizontal asymptote of the graph of the function
kxt+ 7

fz) = 2¢(x —1)2(3z —1)
then k =
SR
(2 (3)
(a) 6
(b) 7
(c) 2
(d) 3
{e) 1
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11. The demand equation for a manufacturer’s product is
p=""F | 0<g<80
4
then the maximum revenue occurs at
2
r= pq = °1-%  qe [o1%] -
I@Q=Ml Y
(b) ¢=20 > dr . @u-2i=-co S q =%o
(c) q = 60 9 >
(d) g =50 e
— —
(e) g = 30 Ao =
©
q | r&)
3.6 = Yo GiveEs o
CXamgt T 7 —

12. Let f(z) = /z, then by using differentials f(9) =

(
jL()LJr dv) ¥ &(XB Jrcla = gcfx\ + f® dx

’ | =43
x=%, dx=} )’F&)"'?’(
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13. /(332 +5) (@ —3) do =

( (x>~ 3x%+B5x —15) dx

-——x +————15m+c

5 Y 3 2
(b)-+a: ~——+15:z:+c = X -x + 2‘,——’5&1‘(:
4
4 2
(C)Z—x3+?—15$+c

4 2
z 3, O
(d) a7 +~2~——5:c+c

5 2
(&) —2" + - — 15z +c

QHl, 142

8\5/_9_4 3+ 2,1 -'
14'/ @ = S@ 5 _y x +€)‘lx
5 " X
@10\/;4—2:1:2—1—6 +c o ;6'2X2+€+C

(b) 10 V% — 2% + € + ¢
(c) 8 Vat— 222+ e* +¢
(d) 10 Vot — 2+ e +c
(e) 10 Vt — 222 + ze” + ¢
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15. If 4 = —2* + 2 and y(2) =1, then y(1)=

—

o

SN’
= QO |

Y= J (~>(2+ 20) I

25 = ye=l = <~
(c) 3
(d) 1
(e) 0 3
QH , 143 = YO \
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